SLIP 1D. | MASTER WORKING CLASSIFICATION[®=MTL. INSP 2=RGLTR_INSP SPARE(X=DISPATCH FORM
400 Jove. N A AR AT 10N g e WA - RecomeNnED Py oo INGLE PT
M :MACH.BF. YELD B :DTHER ORDER T:APPND.O¥E | F=MACHINING |U:M+S P:PERIODIC PT K:ASSY'UNIT
P :SEPARATE ML Z :NTL.FINISHED ORDERING | 2 =ASSEMBLY 2,1&“" Y ST E P r :F'fc';flgupm“sf,:'
[ DESCRIPTION: NOMINAL DIMENSION|PART [\ s 1ERTAL - DIMENSIONS WMASS HTIER 1TEN 1. [
L DRAWING NO.-STANDARD NO. [iL.mss|{ OR PATTERN NO. OR_INDICATING SYMBOLS [ NTL. CUT [nl+[2{n]elsle
IMTL PIECES
[ il
1 [SEAL 76 [THREE BOND,
1121%0.2KG  [<NG45-258924C4P4> L
1 [PACKING 77
M645-895979 CNEA5-258924C4P5> i
@4 16/SPRING WASHER, M12 |78 [STEEL
J18 <N645-258924C4P10> (1]
12[SPRING WASHER. M10 |79 |STEEL
J18 <HG45-258924C4P13> L]
14|SEAL STRIP (8) |80 |ALUMINIUM A=405, L=655
L KS679-00C2 CHG45-258924C4P 18> L
( 1 |SEAL 81 [THREE BOND,
1121%0.2KG  [KNG45-258924C4P4> I
1 [PACKING 82
M645-8958738 <HG45-25892404P6> ]
< 1 6|SPRING WASHER, M12 |83 [STEEL
J18 <HG45-258924C4P10> ]
12|SPRING WASHER. M10 |84 |STEEL
R CHEA5-258924C4P13> LT
14|SEAL STRIP (8) |85 [ALUMINIUM A=405, L=655
L KS679-00C2 CNG45-258924C4P18> LT
g 1 |SEAL 86 [THREE BOND,
1121%0.2KG  [<N545-258924C4P4> L]
1 [PACKING 87
M645-895973 CNG45-258924C4P6> 1]
16[SPRING WASHER. M12 |88 |STEEL
QD< J1s CHGA5-25892404P10> 1]
12|SPRING WASHER. M10 |89 |STEEL
JI18S CHEA5-258924C4P13> 11111
14|SEAL STRIP (8) |90 [ALUMINIUM A=405. L=655
L KS679-00C2 <HGA5-258924C4P18> [T
@ 4CONSUMABLE PARTS LIST
DRAWN| K.WADA APPROVED g ~| FOR MAINTENANCE
cuecker | K. ISHIDA 2. o
DATE [1998-02-27 @'@ ; M 7 9 8 . <7/23>
Fuji Electric Co.ltd  |& 2 83939158




